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QUESTION 1

What is the purpose of an internal segmentation firewall (ISFW)?

A. ltis the first line of defense at the network perimeter.

B. It inspects incoming traffic to protect services in the corporate DMZ.

C. Itis an all-in-one security appliance that is placed at remote sites to extend the enterprise network.
D. It splits the network into multiple security segments to minimize the impact of breaches.

Correct Answer: D

QUESTION 2

An administrator has configured two FortiGate devices for an HA cluster. While testing the HA failover, the administrator
noticed that some of the switches in the network continue to send traffic to the former primary unit. The administrator
decides to enable the setting link-failed-signal to fix the problem. Which one of the following statements about this
command is true?

A. Forces the former primary device to shut down all its non-heartbeat interfaces for one second while the failover
occurs.

B. Sends an ARP packet to all connected devices, indicating that the HA virtual MAC address is reachable through a
new master after a failover.

C. Disables all the non-heartbeat interfaces in all the HA members for two seconds after a failover.
D. Sends a link failed signal to all connected devices.

Correct Answer: A

QUESTION 3

View the exhibit, which contains the output of diagnose sys session stat, and then answer the question below.

NSE7_EFW-6.0 VCE Dumps | NSE7_EFW-6.0 Practice Test | NSE7_EFW-6.0 Exam Questions 2/4


https://www.leads4pass.com/nse7_efw-6-0.html
https://www.leads4pass.com/nse7_efw-6-0.html
https://www.leads4pass.com/nse7_efw-6-0.html

https://lwww.leads4pass.com/nse7_efw-6-0.html
2024 Latest leads4pass NSE7_EFW-6.0 PDF and VCE dumps Download

NGFW-1 # diagnos
misc info: - . up rat exp count=0
removeab le=0

TCP sessions:
166
1 in
3
<>

4

firewall error stat:

error2=00000000
error3=00000000
error4=00000000
tt=00000000
cont=00000000

ids recv=00000000
url recv=00000000
av_EEcv=DDDDDGDD

foadn count=00000006
global: ses_limit=0 ses6_limit=0 rt_ limit=0 rté_limit=0

Which of the following statements about the output shown are correct? (Choose two.)
A. There are 166 TCP sessions waiting to complete the three-way handshake.

B. All the sessions in the session table are TCP sessions.

C. There are 0 ephemeral sessions.

D. No sessions have been deleted because of memory pages exhaustion.

Correct Answer: CD

QUESTION 4

View the exhibit, which contains the output of a debug command, and then answer the question below.

# diagnose hardware sysinfo conserve
nemory conserve mode:

total RAM:

Hemory used:

on

=
o
B
o

Memory freeable:
memory used + freeable threshold extreme:
s

[N ]
0 G =)
(=)

memory used threshold red:
memory used threshold green:

oS T o5 N N ]

Which one of the following statements about this FortiGate is correct?
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A. Itis currently in system conserve mode because of high CPU usage.

B. It is currently in extreme conserve mode because of high memory usage.
C. Itis currently in proxy conserve mode because of high memory usage.
D. Itis currently in memory conserve mode because of high memory usage.

Correct Answer: D

QUESTION 5

Which of the following tasks are automated using the Install Wizard on FortiManager? (Choose two.)
A. Install configuration changes to managed devices.

B. Preview pending configuration changes for managed devices.

C. Import policy packages from managed devices.

D. Add devices to FortiManager.

E. Import interface mappings from managed devices

Correct Answer:. AB

NSE7 EFW-6.0 VCE NSE7_ EFW-6.0 Practice NSE7_EFW-6.0 Exam
Dumps Test Questions

NSE7_EFW-6.0 VCE Dumps | NSE7_EFW-6.0 Practice Test | NSE7_EFW-6.0 Exam Questions 4/4


https://www.leads4pass.com/nse7_efw-6-0.html
https://www.leads4pass.com/nse7_efw-6-0.html
https://www.leads4pass.com/nse7_efw-6-0.html
https://www.leads4pass.com/nse7_efw-6-0.html
https://www.leads4pass.com/nse7_efw-6-0.html
https://www.leads4pass.com/nse7_efw-6-0.html
http://www.tcpdf.org
https://www.leads4pass.com/nse7_efw-6-0.html
https://www.leads4pass.com/nse7_efw-6-0.html
https://www.leads4pass.com/nse7_efw-6-0.html

